Mishra tutorial

mishratutorial124@gmail.com

Class 10 - Mathematics
Practice paper

Maximum Marks: 100

General Instructions:

* Attempt all questions
+ Contact me for answer
» Contact no.9999202554

o e . Section A
fsiner = == gnd tan B = 1, then the value of cos(a + f) is
a)3 b)1
c)2 d) o

2. _m msinf—ncosf _
Iftand = -, then ————m@GMwW
m?—n? 24
a) m?+n? b) 1,::2_.:2
01 nl-m
d) n2+m2

3.If sinf = % and cos¢ = % , then the value of (8 + ¢) is

a) 0° b) 30°
c) 90° , d) 60°
4.1+ 1+c:;s(:ca =
a) sin b) sec a
c) cosec d) tan
5. Choose the correct option. Justify your choice.(sec A + tan A) (1 —sin A)
a)cos A b) sec A
c)sinA d) cosec A
6. If A and B are acute angles and sin A = €08 B, then the value of (A + B) is
a)0° ‘ b) 90°
" ¢)30° d) 60°
___7.The value of cos 48° — gin 42° is
a)o b1
02 d) 3
8. The value of tan(55° — 9) — cot(35° + 6) is
a)-1 D)0
c) \/5 ‘ 1
9. The value of cosec* A — 2 cosectA + 1is
a)tantA b) sec’ A
o) coseectA d) cot*A
10. The value of sinA + cos®A + 3c0s2A sin®A is
a)0 b)-1
c)2 d)1
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Section B
11. Fill in the blanks:

If A and B are acute angles and tan A = cot B, then the value of (A + B) is ————

12. Fill in the blanks:

The value of sin230° + cos245° + cos230° is
13. Fill in the blanks:

If A and B are acute angles and sin A = cos B, then the valueof (A+B)is .

14. Fill in the blanks:
secd in terms of sinf is
15. Fill in the blanks:
Two angles are said to be
16. Fill in the blanks:
Ifsin 4 = i—g, then the value of cos A is
17. Fill in the blanks:
.The maximum value of ﬁ is
18. Fill in the blanks:
The value of trigonometric function cot2 — E:To =
19, Fill in the blanks:
Inright angled triangle, the square of the
sides,
20. Fill in the blanks:
The value of trigonometric function cosec 3=

if their sum is equal to 90°,

is equal to the sum of the squares of the other two

Section C
21. Match the following:
(a) If tan@ = %, then 5sin26 @3
() Iftanf = 4 /2, then 5cos®d (ii) 6
©1Iftanf= /2, then 3sec?d (iii) 2
(d) Iftanf = -g-, then 4cot%6 ()5
22. Match the following
@ sin?A+ cos?A M ta_;"'A-
(b) cosec?A — 1 (i) cosecA
(¢) cosecA.tanA (iii) seczA —tan?4
(d) secA.cotA (iv) secA
23. Match the following:
(@) IfCosA = %, then sinA @ %
M If CosA = % ;then tan A (i) %
©1fCosA = 4, then cot A Giip 3
@]1fCosA = 4, then cosecd (i) £
24. Match the following:
 |@tan(3D 307y = 1 @ 10°
(0) 8in(90° — 24) = sin (A — 15°) (i) 35°
(©)8in 2B = 2 5in B (iii) 5°
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@ tan 2C = ¢y (C+ 60°
25. Match the fOUOWing . 0 )

(iv) 0°

8!!12 22°+ :
= 8in? ggro
@ coes +m 68
2 +cos? 68°

90 ~— 22 o]
— 2
© Sty ton 2] =
14-cot2 63° tan2 68°
(iif) 3

(d) Cosec 92
20.3' o
n 22 + 2sec 68°.cos 68° (iv) 2

26,
State true op false: Section D 1
The value of ¢ z

() cosee? ( @o

= m—

1
27. State true or false: e 1

IEsinf - cos =
28. State true or fals(;: (0 <6< 90°) then the value of 6 is 60°.

"tan A" j :
A"in terms of perpendicular and base is —225¢—,
29. State true or false: Ferpendiculr 1

.€os A is the abbreviation used for the cosecant of Z A.
30. State true or false: 1

cot A is not defined for A = 0°.

: ‘ Section E
31. Evaluate: 4 - Sn80°+tan45°—cosec60® ”
. sec 30°+cos 60°+cot 45°
32. Evahllate sin 60° cos45° + cos60° sin45° in the simplest form. 2
33, ABC is a triangle right angled at C. If ZA = 30°, AB = 12 cm, determine BC and AC. 2
. A b
30°
12em
B8 Cc
34. Prove the trigonometric identity: 2
-i;—:’zz% = (cot A — cosecA)’
35, Prove that : sec?d - sec2f = tan?d + tan?d. 2
Section F
36. If A, B, C, are the interior angles of a AABC, show that sin g;_c = oS %. 3
. . [1l—cos@ __ _sind —F0° 3
37. Verify: 1+cosf  l+cosf’ for 6=60°. 4
B 1 sin
38. If cosec A = 2, find the value of ) + T '§§°s Aww 3
. co358° sn22° €03 38°cos
39. Evaluate: Z=5 * < 58" ~ /3(tan 18° tan 35° tan60° tan 72° tan 55°) 3
. sec 41° sin 49°+cos 29° cosec 61°—-‘;5—(tan 20° tan60° tan70°) 3
40. Evaluate: 3(Ra? 3T 1an? 5)
Section G
41. Prove the trigonometric identity: 4
: L 2 geggl g — At bett
( sec2 §—cos? 0 cosec2f—sin? @ ) sin” § cos” 6 = 2+sin? fcos? 6
-sinA-= inA= o Y -2 ' 4
42. 1f cos A - sin A = m and cos A + sin A = n. Show that: min? 2sin A.cos A Ty
43, Prove the trigonometric identity: 4
1+sinf—cosf 2 __ 1—cosf
1+sinf+cosf /] ~ 1+cosd
. " )
44, 13 cot A = 4, check whether 1234 — ¢os? A —sin® A or not. 4
1+tan® A
4
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45. IfZcos0-sin0=xandcosB-3sin9=y,provethat2x2+y2-2Xy=5-

46. In AABC, AB = x units, AC = 7 units, and ZB = 90°, €0s B=0. Evaluate : /7 — ¢ tanC+ /7T + g cotA-14 4

COSA+21sinC+ v/49 + z2 cos B.

A X B

=)

P41

48. ARPQ is a triangle, right-angled at Q. If PQ = 5 cm and RQ = 10 cm, find:
i.sinP

47. If cosec 0 + cot 8 = p, then prove that cos 6 =

il. cos?R and tan R
iii. sin P X cos P

iv. sin?P - cosZp
49. If cosec A = 2, find the value of —— 4 —S24

tanAg 1+cosd”
_ 13 2sin6—3cosf __
S0. If secf = 3, show that Zsn09c0s0 — O
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